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3. Use the graph of a human mouth to answer questions.
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in the second run, the snowboarder travels down one side of a
o g parabolic curve and up the other. For this run, graphing height
""""" 0 5 10 15 20 25 30 35 4 ' against horizontal distance from the starting point produces
S Wideh (i #parabola.

a) Where does the
What is the maximum depth of the mouth? : minimum height'occur
» horizontally?
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b) What is the width of the mouth if the depth is 26 mm? N InN 4 .
X /’ b) How wide apart is the
e 2 N 7 half pipe?
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5. 'Thetable shows the height and horizontal distance of a golf ball

after it is hit
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a) Graph the relation. Label axes and give the graph a title. v
b) When does the maximum height of the ball occur? _rf)g ¥
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¢) What is the maximum height? ! -
5. ‘ O 70 Yy 6o B0 (0 7O juo Hho (3o LoO
P by
d) What is the initial height? : Hotit. ik, {“}
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e) When does the ball land on the ground again?‘




